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QUESTION 1

In Hyperledger Fabric, which HTTP request invoked inside the chaincode can cause consensus failures?
A. An HTTP request to retrieve a postal code

B. An HTTP request to retrieve a telephone number

C. An HTTP request to retrieve a real-time stock price

D. An HTTP request to retrieve the birthday of an individual

Correct Answer: C

QUESTION 2

Which two languages are available with the IBM Cloud Object Storage SDK?
A.Go a

B. Perl

C. Java

D. Node.js

E. .NET Core

Correct Answer: AD

QUESTION 3

To update an existing document in an IBM Cloudant database using the HTTP PUT method, which two JSON objects
are valid to be sent in the request?
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A Option
{
"hld" : "EMPOOO1"™,
Y _name™:"John",
*age™ :30,
*car":null
}
B. Option
{
* _id": "EMPOOO1",
o ravT:"1-2902122155",
"nams=":"John",
*age™:30,
| "carT:null
)
C. Option
{

s _rev*:"1-2902122155",
"name"™ : "John"™,
"age™:30,

*car™":null

i}
D. Option
4
"name"™ : "John",
"age™: 30,
"car”:null
}
E. Option
{
"name"™ : "“John",
"age™:30,
*car”:null
}
A. Option A
B. Option B
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C. Option C
D. Option D
E. Option E

Correct Answer: B

QUESTION 4

Which statement describes the immutability of data on blockchain?

A. Data can only be modified by an administrator

B. It is not possible to modify business data through transactions

C. No participant can tamper with a transaction after it has been recorded to the ledger.

D. All data is encrypted using a one-way hashing algorithm. Therefore, changing stored data is impossible.

Correct Answer: B

QUESTION 5

What is the limit to the number of catalog assets in Watson Studio?
A. 10.000

B. 500,000

C. Unlimited

D. 1,000,000

Correct Answer: C
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